2018 FC7 MFEXRLE[3F 4]

M F—L%
Avovy| OFEBHA thifA LS B E ]
B7Aavy| A= s A& hiEB v I-5%B
r[ FEIOVY ]
B Ad—k(ATOvYY) Ba—k(B7HvY)
i =a gy | F8 =a RS
1 800 ~ 827 [[UOFE=BHA| 2 x 1 FiRA MHA | &4 =3/ Gt 1 X 6 wma  |vresss @E
2 83 ~ 902 Y8 0 x 1 Bl FiRA | FEH FA& 3 x 1 FiEB WA |vrbEB
3| 910 ~ 937 [Faf:] 0 x 3|UfbHA| S8 | dBA| vE=BHB | 0 x 2| HFAZ | $iEB| #A
4| 945 ~ 1012 hiEA 0 X 2 H R vt=HA| EHH HA 2 x 0 mE $ 2= | BiEB
5| 10220 ~ 10:47 #2e 2 x 1 & H 4R |vsHA|  $4EB 2 x 0| UW=BHB| M& |FAZ
6| 1055 ~ 1122 || OF=BHA| 2 x 0 HX A | PEA FAXZ [0 x 1 [R& V558 #A
71 11:30 ~ 1157 hiEA 0 x 1 gAH V= HAl A b PN 4 x 0 hiEB (4= mE
8| 1205 ~ 12:32 LY/ 3 x 0 & H hiEA | B8R BE= 1 x 3| UV=bHB| #a | #1EB
9| 1240 ~ 13:.07 ]S 2 x 1| O=HA| & | EHA hiEB 1 x 0| %A= [&E |vrEbH8
10| 1315 ~ 13:42 f& A 0 x 1 FiRA A |vrsmAl OFBHB | 0 x 1 wma FiEB | FAZ
AZOvY | O=5FHA hiRA H X Bl il H (8 |9 | Bea| Bk | IEh
U =5HA 2 — 2 — 1 — 2|3 — of 38 1 o 9 +5 2
FiRA 1 — 2 0 — — 1|1 — of 1] 3 0 3 -3 4
/8 0 — 2|2 — — 1|3 — o] 2 2[ o 6 +2 3
S| 2 — 1|1 — 1 — 0 2 — 1] 4] o] o 12 +4 1
FEH 0 — 3|0 — 0 — 3|1 — 2 ol 4 o 0 -8 5
B7OvY | 4AZ EiEA A& FIEB | OM=BHB (B (A |49 | BbR| /K | B
L/ 1T — 60 — 1 — 1|2 — of 1] 8] o 3 -5 5
Fi:PN 6 — 1 2 — 0 — o1 — of 4 of o 12 +12 1
RE 1 — 0 — — 1|1 — 3| 2] 2 o 6 -1 2
FiEB 1 — 0 — 1 — 3 2 — 0] 2| 2| o 6 -3 3
OEBEHEB| 0 — 2 — 3 — 1|0 — 2 1l 8] o 3 -3 4
[ IERTRFEE ]
Ad—h Ba—k
e #a e Ha &4
o ial A4fL _ BARL | ATHL | A5fi B B5fy | B2
11 14:00~14:35 rhiga | O 1 ur_Bsgy Bi| mE 1 3 lep= (A2f)
_ | A2l B2fz | AMI || A3 Baf | BSH
12|  14:45~15:20 w_Awy 2 — 38 | a Batn| A 3 — 1 | mieg (ASHD)
A1 Bif | A3
1 15:30~16: — 1 Py
3 5:30~16:05 sE 0 #5 | (B3
[ JMIER )
1452 FiiES 241 Bl 3L D= AL U=BHA 5 H X
64 F1iEB 741 U=6HB 8{i FiEA 9{ir HFAZ 1047 [EHE




